PHYSIOLOGY QUIZ 3 2007
1. During which one of the following phases of the cardiac cycle is the mitral valve open and the aortic valve is closed ?

A. Isovolumic contraction

B. Ejection

C. Isovolumic relaxation

D. Ventricular filling

2. Which one of the following will increase the heart rate ?

A. Making phase 4 of the SA node action potential more negative

B. Reducing the slope of phase 4 of the SA node action potential

C. Increasing the activity of the efferent vagal nerves which innervate the SA node

D. Decreasing the duration of phase 4 of the SA node action potential

3. The swollen ankles found in patients who are in heart failure are caused by which one of the following ?

A. An increase in the hydrostatic pressure in the systemic capillaries

B. A decrease in the interstial osmotic pressure

C. An increase in the plasma oncotic pressure

D. A decrease in the interstial hydrostatic pressure

4. Which one of the following will increase central venous pressure? (Hint: use the Guyton curves to figure this out.)

A. An increase in contractility

B. A decrease in venous compliance

C. An increase in total peripheral resistance

D. A decrease in blood volume
